EAXE 1 35 (BF 2 8 KEHR)

SISEE FTEEFEESE
SFS5HE 4H 1HMLHF64 3H 31HET

FrE B EFNEENEN  EEFAK L RO

(HAL - 1)
B H & %H
[ & Ias
1 =% 157, 000
N =i ey 75, 000
= CIES=C ey g 82, 000
2 ZIUEM4 5, 000
% B b4 5, 000
it 5% 2 52 AR 4R
3 ZWBhE4e% 0
= Wi Bh 4 0
4 FENIE 2, 700
HRBRBEZH F 2R 2,700
ZSUINE = I\ EA
5 FOMINESE 3
= ORI 3
A EAY 164, 703
O w2
1 HER
(D) A2
Ry
IRIEAG A 2
fERIE Ay
EASIE 100, 000
NG 100, 000
(2) F Dk
VHEE LB 0
BIE TERE 7,896
PR 9, 563
R kI=EIE=¢ 0
FInl A 2y 0
MR 13, 408
Z DA E T 30, 867
HEHG 130, 867
2 Bt
(D) A2
1 5
Ry
IRIAGA 2
LA ERE
N5 0
(2) # Dt
THEE L 4,637
BIEEW 5,134
FI1 i A 2y 0
AV 0
TN A 0
MR 30, 791
Z Ot F 40, 562
R 40, 562
R R 171, 429
4 R TRRE -6, 726
1| YL OUNEAY




M AR R T
IV RS

R O T
CIEIGIEE SN St )
TEABL, ERB O R
=4 00 T B P TR
AT A0 AR I S pE SR
ORI Y PEE

-6, 726

-6, 726
537, 437

530, 711




